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Which country is hosting the Asia Pacific Broadcasting Union General Assembly 20227

(A) Bangladesh (B) India

(C) Belgium (D) Brazil

Edward M Kennedy was given ‘Friends of Liberation War’ honour by which nation?
(A) Pakistan (B) Myanmar

(C) Bangladesh (D) Afghanistan

The Track Asia Cup 2022 will be hosted by which Indian state?

(A) Karnataka (B) Telangana

(C) Kerala (D) Odisha

The 41st International book fair is organised in which of these countries?
(A) UAE (B) Qatar

(C) Iran (D) Iraq

The National Tribal Dance Festival 2022 is organized from
(A) November 1st to 3rd at Raipur

(B) October 21st to 23rd at Itanagar

(C) October 24th to 27th at Agartala

(D) October 28th to 31st at Kohima

Ela Bhatt, who passed away recently, has contributed in which of the following field?

(A) Social Service (B) Dance

(C) Music (D) Literature

The Dr. Rajendra Prasad award is given to which of the following fields?
(A) Literature

(B) Arts

(C) Journalism

(D) Public Administration in the field of academic excellence

‘Which state has announced child-friendly police stations?
(A) Madhya Pradesh (B) Odisha
(C) Uttar Pradesh (D) Gujarat
‘Which among the following countries has won FIFA U-17 Women’s World Cup 2022?
(A) India (B) Spain
(D) Colombia

(C) Nigeria
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010. According to a report released by UNHCR in October 2022, which country hosted the largest
refugee population in the world?
(A) Turkey (B) Colombia
(C) USA (D) France
011. Which state has won the SKOCH award 2022 in the women and child development category for
its popular ‘Lakshmir Bhandar’ scheme?
(A) Haryana (B) Karnataka
(C) Bihar (D) West Bengal
012. where the greenfield Electronics f: ing Cluster (EMC) is to be set up, is in
which state?
(A) Tamil Nadu (B) Maharashtra
(C) Gujarat (D) Madhya Pradesh
013. First ASEAN-India Start-Up Festival has been inaugurated in which country to mark the
30th anniversary of ASEAN and India’s relationship?
(A) Indonesia (B) Cambodia
(C) Brunei (D) Laos
014. Which country’s President is mandated to bring out the National Security Strategy?
(A) China (B) USA
(C) Russia ' (D) France
015. Jamsheed J. Irani, who passed away was the former MD of which company?
(A) Tata Steel (B) ITC Limited
(C) Larsen & Toubro (D) Hindalco Industries
0i6. Mawmluh Cave, in which state has become the first Indian Geoheritage Site to be recognised by
UNESCO?
(A) Meghalaya (B) Manipur
(C) Arunachal Pradesh (D) Mizoram
017. Where was India’s Second National Model Vedic School inaugurated recently?
(A) Dwarka (B) Puri
(C) Badrinath (D) Guwahati
018. North India’s first data centre has been set up in which state?
(A) Himachal Pradesh (B) Haryana
(C) Uttar Pradesh (D) Punjab
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019. DRDO Industry Academia-Centre of E 1l (DIA-CoE) has been set up in which institution?
(A) 1T Roorkee (B) IIT Madras
(C) NIT Kozhikode (D) 11Sc Bengaluru
020. In accordance with the RBI Act, the central bank is required to make a report to the government
if the inflation target is not maintained for how many quarters?
(A) Three (B) Two
(C) Four (D) Five
021. ISRO plans on exploring the moon’s shadow region in collaboration with which country?
(A) Japan (B) Russia
(C) United States (D) France
022. The first voter of independent India has passed away, what was his name?
(A) Shyam Saran Negi (B) Sukumar Sen
(C) Womesh Chandra Bannerjee (D) Lord William Bentinck
023. Which country has partnered with the US to build its first nuclear power plant?
(A) Albania (B) Poland
(C) Afghanistan (D) Algeria
024. Which among the following has won the national ‘Commentation Award in Urban Transport’ in
the category of ‘City with the best Public Transport System’?
(A) Delhi Transport Corporation (DTC)
(B) Gujarat State Road Transport Corporation (GSRTC)
(C) Rajasthan State Road Transport Corporation (RSRTC)
(D) Kerala State Road Transport Corporation (KSRTC)
025. Which state government has decided to give football training to one lakh students?
(A) Maharashtra (B) Kerala
(C) Assam (D) Karnataka
026. The Unique Identification Authority of India (UIDAI) has launched a new AUML-based chatbot
for a better resident experience. What is the name of the chatbot?
(A) Unique Aadhaar (B) My Aadhaar
(C) Aadhaar Mitra (D) Aadhaar Chatbot
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The Union Cabinet Committee chaired by Prime Minister has approved the naming of the
greenfield airport at Hollongi airport as Donyi Polo Airport. Hollongi airport is located in which
state?

(A) Meghalaya (B) Tripura

(C) Arunachal Pradesh (D) Assam

The Hon. President has inaugurated the Indian Institute of Mass C North Eastern
Regional Campus in which state?

(A) Mizoram (B) Assam

(C) Nagaland (D) Tripura

India contributes USD 2.5 million in annual support to UNRWA to serve the schools, health centres
and other basic services run by the organization to support

(A) South Sudan refugees (B) Palestinian refugees

(C) Ukrainian refugees (D) Syrian refugees

Operation Vigilant Storm exercise has been organized between South Korea and
(A) Japan (B) USA
(C) Britain (D) Australia

Zojila Day is observed to celebrate the gallant action by Indian troops in ‘Operation Bison’ in

which year?
(A) 1949
(€) 1951

(B) 1948
(D) 1950

Who is the head of the panel set up to strengthen the assessment and accreditation of higher
educational institutions?

(A) Kasturi Rangan (B) K Radhakrishnan
(C) VK Paul (D) Amitabh Kant
Which country launched the ‘Beidou’ satellite navigation system?

(A) Israel (B) Japan

(C) China (D) Russia

Which word has been selected as the ‘Word of the Year 2022’ by Collins dictionary?
(B) Pandemic
(D) Non-Fungible Token

(A) Permacrisis
(C) Lockdown

Which institution observes ‘Vigilance Awareness Week’ every year in India?
(A) Central Vigilance Commission

(B) Reserve Bank of India

(C) Investor Education and Protection Fund Authority

(D) Securities and Exchange Board of India
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036. As per the Education Ministry’s Performance Grading Index (PGI), how many states attained
Level-2 grading in 2020-21?
(A) Two (B) Four
(C) Seven (D) None of the above

037. Which steel plant in India became the 1st to receive Responsible Steel Site Certification?
(A) Jamshedpur Steel Plant
(B) Rourkela Steel Plant
(C) Bokaro Steel Plant
(D) Durgapur Steel Plant

038. India Water Week is celebrated from 01 November to 05 November 2022. What is the theme of
India Water Week 2022?
(A) Water, Energy and Food Security
(B) Leaving no one behind
(C) Groundwater, making the invisible visible
(D) Water Security for Sustainable Development with Equity

039. Which institution tested the Phase-II Ballistic Missile Defence (BMD) interceptor AD-1 missile?

(A) BEL (B) DRDO
(C) ISRO (D) HAL
040. How many states observed State dation Day on 01st ber?
(A) 7 states (B) 8 states
(C) 6 states (D) 9 states
041. The objectives of the NITI Aayog include
1. To foster cooperative federalism
2. To evolve a shared vision of national development priorities
3. To create a knowledge, innovation and entrepreneurial support system
4. To develop mechanisms to formulate credible plans at the village level
(A) 1 and 4 only (B) 2 and 3 only
(C) 1,3 and 4 only (D)1,2,3and 4
042. Select the correct option regarding the following assertions.

Assertion (A): Under Prime Minister-Formalization of Micro Food Processing Enterprises, One
District One Product (ODOP) status for 137 unique products in India has been
approved by Ministry of Food Processing Industries.

Assertion (B): Operation Greens Scheme in India promotes Farmer Producer Organisations,
agri-logistics, and processing facilities for Tomato, Onion and Potato crops.

(A) Both A and B are individually true (B) A is false but B is true

(C) Ais true but B is false (D) Both A and B are individually false
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043. The Government of India launched the Pradhan Mantri Kisan SAMPADA Yojana (PMKSY) to
provide financial support for:

1. Food Testing Laboratories

2. Mega food parks and cold chain infrastructure

3. Interest subvention

Which of the statements given above is/are correct?

(A) 1 and 3 only (B) 2 only
(C) 1 and 2 only (D)1,2and 3

044. Which of the following areas has been covered by the Pradhan Mantri Ujjwala Yojana (PMUY)
for below poverty families in India?

1. Health 2. Nutrition

3. LPG connection 4. Power

(A) 1 and 2 only (B) 3 and 4 only
(C) 3 only (D)1,2,3and 4

045. Which of the following schemes is/are correct regarding Pradhan Mantri Mudra Yojana (PMMY),
launched on April 8, 2015?
1. Shishu : Covering loans upto Rs. 50,000/-
2. Kishor : Covering loans above Rs. 50,000 and upto Rs. 5 lakh
3. Tarun : Covering loans above Rs. 5 lakh and upto Rs. 15 lakh
(A) 1 and 2 only (B) 3 only
(C) 1 and 3 only (D)1,2and 3

046. Select the correct option regarding the following assertions.
Assertion (A): India has the second largest road network in the world of about 63.72 lakh km
after USA.
Assertion (B): The extent of road construction per day in India increased from 28 km in 2019-20
to 36.5 km in 2020-21

(A) Both A and B are individually true (B) A is false but B is true
(C) Ais true but B is false (D) Both A and B are individually false
047. Select the correct option regarding the following assertions.

Assertion (4): The Bharatmala Pariyojana, approved by Government of India in 2017, envisages
development of about 26,000 km length of Economic Corridors.

Assertion (B): The Bharatmala Pariyojana is being funded from Cess collected from Petrol &

Diesel, Toll etc.
(A) Both A and B are individually true (B) A is false but B is true
(C) Ais true but B is false (D) Both A and B are individually false
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y Policy C

(MPC) was constituted by the Central

Government w.e.f. 5 Oct 2020. The quorum for the meeting of the MPC is

1. Two Members
3. Four Members
(GVR
©2

2. Three Members
4. Five Members
B)3

D)4

Which of the following two States of India had the largest length of National Highways as on

31 December 2021?
1. Madhya Pradesh
(A) 1 and 4 only
(C) 3 and 4 only

2. Maharashtra

Gilt-edged market means
(A) bullion market
(C) market of guns

3. Uttar Pradesh
(B) 2 and 3 only
(D) 2 and 4 only

4. Rajasthan

(B) market of government securities
(D) market of pure metals

Consider the following statements and identify the correct answer using the given codes:

1. Water vapor decreases from the Equator to Pole ward.

2. More than 90 percent of the atmospheric vapor found up to the height of 5 kms.

3. Outgoing shortwave terrestrial radiation is absorbed by lower portion of the atmosphere.

(A) 1 and 3 only
(C) 2 and 3 only

(B) 2 only
(D)1,2and 3

Among the following visible rays, which one is the shortest wavelength in microns?

(A) Green (B) Red

In which state of India sun rises first?
(A) Arunachal Pradesh
(C) Nagaland

Which one of the g countries (i

(C) Violet (D) Yellow

(B) Bihar
(D) Gujarat

territories) in the world has a

maximum number of Time Zones?
(A) Australia
(C) France

their depend:

(B) Russia
(D) United States

Intrusive Igneous rocks are formed by solidification of magma below the Earth’s surface and its

example is
(A) Granite
(C) Gabbro

(B) Basalt
(D) Pumice

Among the following Trenches of the Pacific Ocean, which one is the deepest in terms of meters?

(A) Kurile
(C) The Mariana Trench

(B) Japan
(D) Karmadec

[CsP-2] [PT.O. IB
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063.

Submarine Canyons abundantly found on the

(A) Abyssal plain

(B) Within continental slopes or on a continental shelf
(C) Oceanic Ridge

(D) Trenches

Among the following Peninsular rivers of India, which one is longer in length (in Kms.)?
(A) Godavari
(C) Mahanadi

(B) Cauvery

(D) Krishna

Which one of the following pairs of leading mineral production and country is not correctly
matched?

(A) Uranium - Kazakhstan
(C) Silver - Pern

(B) Platinum — South Africa
(D) Copper — Chile

Which one of the following States has recorded highest length of National Highways (in Kms.)?
(A) Uttar Pradesh (B) Maharashtra
(C) Rajasthan (D) Karnataka

Which of the following reforms were undertaken under Washington consensus?
1. Promotion Capitalism

2. Opening of economies

3.Pr ting Foreign I

4. Establishment of WTO

Select the correct answer from the codes given below:

(A)1,3and 4 (B)1,2and 3
(C)2,3and 4 (D) All of the above
With refe to inable D Goals (SDGs), which of the following is not matched
correctly?

Number Goal

(A)2 - Zero Hunger

®B)4 - Quality Education

©)13 - Climate Action

D15 - Gender Equality

Suraj Dhara Yojana is related with :

(A) Loan (B) Exchange of seeds
(C) Vaccination (D) Insurance

LA
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064. JNNURM is concerned with improving which of the following?

(A) Rural Housing (B) Urban and Rural Marketing structure

. (C) Employment to educated persons (D) Urban infrastructure

065. The concept of Urban Corridors are concerned with:

(B) Urban transport hazards
(D) Counter-Urbanization

(A)‘Expnnding urban functions
(C) Rural-Urban fringe

066. Which of the following taxes is levied by the Gram Panchayats?

(B) Land revenue tax
(D) Taxes on purchase of mobiles

(A) Sales tax

(C) Tax on local fairs

067. The SEZ Act, 2005 which came into effect in February 2006 has certain objectives. In this context,

consider the following :

1. Development of Infrastructural facilities.

2. Promotion of investment from foreign sources.

3. Promotion of export of services only.

Which of the above are the objectives of this Act?

(A) 1 and 2 only (B) 3 only
(C) 2 and 3 only (D) 1,2and 3

068. Which one of the following industrial policies has abolished (with a few exceptions) the industrial

070.

licensing?
(A) Industrial Policy, 1970.
(C) Industrial Policy, 1991

(B) Industrial Policy, 1980
(D) Industrial Policy, 1996

069. Consider the following statements regarding CPSEs. Which of them are correct?

1. At present there are 11 Maharatnas.
- 2. Currently there are 13 Navratnas.
3, The number of Miniratna CPSEs is 74.
Select the correct answer using the codes given below :

(A) 1 only (B)land3
(©)1and2 (D) All of the above
0. Which of the following statements is/are correct with reference to Indian Railways?

1. Achieving 100 percent electrification by 2023-24.

2. A net zero carbon emission network by 2030.

Select the correct answer using the codes given below :

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None of the above

rro. B
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Which of the following are the models of public-private partnership?
1. Build-Operate-Transfer (BOT)

2. Build-Own-Operate (BOO)

3. Build-Operate-Lease-Transfer (BOLT)

4, Design-Build-Finance-Operate-Transfer (DBFOT)

Select the correct answer using the codes given below :

(A)1,2and3 (B)2,3and 4
(C)1,3and4 (D) All of the above

Consider the following statements :

1. Privatisation of public sector units occurs when government sells 5% of its shares.

2. Abid C i r ded the lition of reservation of items of small scale
sector in industry.

Which of the following statements given above is/are correct?

(A) Only 1 (B) Only 2

(C)Both 1 and 2 (D) None of the above

The most important small scale industry in India is the :

(A) Textile (B) Handloom

(C) Paper (D) Jute

Sathyam Committee deals with :

(A) Textile Policy (B) Foreign Policy

(C) Infrastructure Policy (D) Review of Indian Constitution

Which of the following are the recent major government initiatives to deal with urban
infrastructure?

1. Amrut 2. Swachh Bharat Mission
3. PMAY ’ 4.SETU

Select the correct answer using the codes given below :

(A)1,2and3 (B)2,3and 4

(©)1,3and 4 (D) All of the above

Which of the following are the major causes of resource depletion/degradation?
1. Pollution and contamination of resource

2. Infrastructural development

3.0 ion and exploitati

4. Destruction of ecosystems

5. Soil erosion

6. Deforestation
Select the correct answer using the codes given below :
(A)1,3,4and 6 ®)1,2,3,4,5and 6
(©)1,2,5and 6 D)1,2,4and 6
[csp-2] [PT0.
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Match list- and list -II and select the correct answer:

List-1 List-11

(Committees) (Chaired by)

1. Shri Raja Chelliah

2. Shri Omkar Goswami
3. Shri R. N. Malhotra
4. Shri C. Rangarajan
(B)a-4,b-2,c-1,d-3
(D)a-1,b-3,c-4,d-2

a. Disinvestment of shares in public sector enterprises
b. Industrial Sickness

c. Tax Reforms

d. Reforms in Insurance sector
(A)a-1,b-4,c-2,d-3
(C)a-4,b-1,c-2,d-3

Which of the following inat Goal (SDG) will target to water availability for
all and its permanent management up to 2030 in India?

(A) SDG-6 (B) SDG-7

(C) SDG-8 (D) SDG-9

A child has presented with growth retardation, inability to walk and bruises all over the body.
Which of the following nutrients should be r ded as a suppl to the diet?

(A) Milk (B) Egg yolk

(C) Pulses (D) Citrus fruits

As of 2021, total number of World Heritage Sites in Gujarat is :

(A)4 (B)2

©)3 m1

Consider the following statements for ISRO.
1. The first Indian spacecraft ‘Aryabhata’ was ped and was
Launcher.

2. DOS Secretariat and ISRO Headquarters are located at Antariksh Bhavan in Delhi.
Select the correct answer using the code given below:

(A) Only 1 is correct

(C) Both 1 and 2 are correct

using an Indian

(B) Only 2 is correct
(D) Neither 1 nor 2 is correct

Consider the following statements for ISRO.

1. Satish Dhawan Space Centre (SDSC) SHAR, Sriharikota, the Spaceport of India, is responsibl
for providing Launch Base Infrastructure for the Indian Space Programme.

2. Sriharikota is a barrier island in Andhra Pradesh state of India. It is most famous as the home
of Satish Dhawan Space Centre (SDSC), one of the two satellite launch centres in India and the
other is in Thiruvananthapuram.

Select the correct answer using the code given below:
(A) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

[CSP-2] rro. B3
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083. Year of Launch Satellite Importance

.2004 EDUSAT (GSAT-3)  India’s first satellite exclusively for education

b. 2012 RISAT-1 First indig 1l her Radar Imagi
Satellite

c. 2017 CARTOSAT-2D The highest number of satellites (104 satellites)
launched by a single launch Vehicle.

d. 2018 ExseedSat-1 1st privately funded satellite of India.

From the above mentioned data, which are correct?

(A)aand b (B)band ¢

(C)candd (D)a,b,c,and d

08s.

086.

. Which of the following ministries is responsible for governing Pradhan Mantri Gramin Awas

Yojana (PMAY-G)?

(A) Ministry of Labour and Employment

(B) Ministry of Rural Development

(C) Ministry of Human Resources Development
(D) Ministry of Social Justice and Empowerment

Which of the following statements are true for nuclear power in India?

1. India is outside the Nuclear Non-Proliferation Treaty due to its weapons programme, it was
for 34 years largely excluded from trade in nuclear plant and materials, which hampered its
development of civil nuclear energy until 2009.

2. Due to earlier trade bans and lack of indigenous uranium, India has uniquely been developing
a nuclear fuel cycle to exploit its reserves of thorium.

Select the correct answer using the code given below:

(A) Only 1 is correct

(C) Both 1 and 2 are correct

(B) Only 2 is correct

(D) Neither 1 nor 2 is correct

Consider the following statements for NEP.

1. The National Energy Policy (NEP) aims to chart the way forward to meet the Government’s
recent bold announcements in the energy domain.

2. All the Census villages are planned to be electrified by 2018, and universal electrification is to
be achieved with 24 x 7 electricity by 2022.

Select the correct answer using the code given below:
(B) Only 2 is correct

(D) Neither 1 nor 2 is correct

(A) Only 1 is correct
(C) Both 1 and 2 are correct

T 25 |
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087. An e-Way bill is related with which of the following?

A) B-Wﬂy bill is a document required to be carried by a person in charge of the conveyance
carrying any consignment of goods

(B) transfer of money from one place to another

(C) Making toll payments on | highways

(D) certificate for quality of goods.

088. Which treaty acts as a framework for international cooperation to combat climate change by
limiting average global temperature increases and the resulting climate change, and coping with
impacts?

(A) ICERD (B) ICCPR
(C) UNSC (D) UNFCCC
089. During which meet Kyoto Protocol was adopted?
(A) Ccopr1 (B) COP2
(C)cor3 (D) COP4
090. Consider the following statements about the North-East Monsoon in India.
1. They are retreating monsoon.
2. They are responsible for rainfall along the Coromandel coast of India.
3. They pick up moisture from the Bay of Bengal before rainfall.
Which of the above statements are correct?
(A)1and3 (B)2and 3
(C)1,2and 3 D) 1and2
091. Which country first suggested the observance of ‘World Tsunami Awareness Day’?
(A) Indonesia (B) India
(C) Philippines (D) Japan
092. Which city is hosting the World Travel Market 2022?
(A) Rome (B) London
(C) Paris (D) Geneva
093. According to a study by the UN body, how many of the glaciers on the UNESCO World Heritage
list are under threat?
(A) half of the glaciers (B) a third of the glaciers
(C) a fourth of the glaciers (D) all of the glaciers
094. Which Municipal bond of India has been selected by the US Treasury for a case study on the
successful listing?
(A) Vadodara (B) Pune
(C) Lucknow (D) Indore
[csP-2) [PTO.
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Which Indian cricketer has become the first Indian player to score 1000 T20 International runs in
a calendar year?

(A) Ravindra Jadeja
(C) Rohit Sharma

(B) Virat Kohli
(D) Suryakumar Yadav

Which Union Ministry launched the ‘Swachh Survekshan Grameen 2023 Toolkit'?
(A) Ministry of Housing and Urban Affairs

(B) Ministry of Agriculture and Farmers Welfare

(C) Ministry of Jal Shakti

(D) Ministry of Rural Development

Where has the annual joint military training between IAF and RSAF started?

(A) Goa (B) Maharashtra
(C) West Bengal (D) Assam

India’s first floating financial literacy camp was organized in which city?
(A) Nainital (B) Srinagar

(C) Bhopal (D) Udaipur
Which country has operated the ‘World’s longest Passenger Train’?
(Ay Australia (B) China

(C) Japan (D) Switzerland
Which institution released the Adaptation Gap Report 2022?

(A) NITI Aayog (B) UNEP

(C) WEF (D) UNFCCC

How can a tight banking system liquidity situation impact consumers?
1. It could lead to a rise in the government securities yields.

2. It could lead to a rise in interest rates for consumers.

Select the correct answer code:
(A) 1 only

(C)Both 1and 2

(B) 2 only
(D) Neither 1 nor 2

Consider the following statements regarding World Trade Organization (WTO).

1. The World Trade Organization (WTO) is the only global international organization dealing
with the rules of trade between nations.

2. It officially commenced operations on 1 January 1995, under the Marrakesh Agreement.

3. After WTO came into existence, General Agreement on Tariffs and Trade (GATT) ceased to
exist.

Which of the above statements is/are correct?

WL ®1,3
©1.2 ®1,2,3
[csP-2] tero. B3
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106.
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(A) A qui Wi (B) WA 111:1:1 :u

(C) At a8 W (D) Gul .

wui 22dlsar A wdl “d A-su” (Neo Banks) afeifa Ha Ru-lA el d:
Qs 538,

1. el 6141 i k-1 1wl bl Rl & wA Rz
2. 1al A Aot e w12 RBI WA 2120 84 W D,

3. 41l U4 ot ol g B 13 3z 41 3L Ao el wein 9.
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41,2 ®1,3
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2. 3B s, 3R2 51§

3. e Rren 51

©2,3 01,23

4. UPIQR 818

02 wudan Sleuidl il oo uie s2A.

(A)1,2,3 (B)1,3,4
©)2,3,4 D)1,2,3,4

siiddlu wufla 2 1S uRiua sRR IMFC) 0siRd 1a-u QA Luwi dl :

1. IMFC vtidR0d)u -ueudlu 213 s1$-ufRiua aqzard 2udu 213 a2 IMF 6l g ol
aae 24 8 2 a2l B, )

2. IMFC 5 5€ A 22+t IMF -1 3AB53Ra 6l s¢ 244 221 WAl 43 8.
3. IMFC d-tt 23+ urieoll ulRa udeiulael sl 53 8.
GuAsmnidl sef/sut Ryl Wi e ?

[GVR 2 ®)1,3
©23 ®)1,2,3
DA R eus w2 Al
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41,2 ®)1,3

©)2,3 1,23
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104.

105.

106.

107.

s e d,
= P re

(A) Consumption expenditure only
(C) Government expenditure only

(B) Investment expenditure only
(D) All of the above

Consider the following statements regarding “Neo Banks” sometimes seen in news.

1. Neo banks are financial institutions with only an online presence and function digitally.
2. Neo banks have to apply for a banking licence with RBI.

3. Neo banks offer banking services like savings accounts, small loans and debit cards.
Which of the above statements is/are correct?

A)1,2 ®1,3
©)2,3 o123
Recently Hon. Prime Mini: dedi 75 digital banking units to the nation. The digital banking

products and services offered by digital banking units are:
1. Fixed deposit and recurring deposit accounts

2. Debit cards, credit cards

3. Mass transit system cards

4. UPI QR codes

Select the correct answer code:

A1,23 (B)1,3,4
©)2,3,4 D1,23,4

Consider the following 1 y and Fi ial C

(AMFC).

1. The IMFC advises and reports to the IMF Board of Governors on the supervision and
of the inter 1 y and fii ial system.

2. The size and the composition of the IMFC mirrors that of the Executive Board of IMF.

regarding Inter

3. The IMFC operates by including on the selection of its chair.
Which of the above statements is/are correct?

A1,2 ®)1,3

©23 ®)1,2,3

Consider the following statements.

1. The Reserve Bank of India Act, 1934 gives RBI the sole right to issue banknotes in India.

2. Any change in design of a currency note has to be approved by the RBI’s Central Board and the
Central Government.

3. The RBI’s Department of Currency Management headed by the RBI Governor has the

responsibility of ing the core fi of currency management.
Which of the above statements is/are correct?
A)1,2 ®)1,3
)23 (D)‘l, 2,3
[cSP-2] rro. B4
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P/sssiid uam A B 3 -

(4) [RE RfRm ozl Ry o 9,
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et ool A s A0 Qe Ly 6
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2. RBI 11 6ll-$7f Qe viedsiui stumad 44 2631 auRL ¢ 14 o © A 20 il yrad

a8,
GuRsniel s/su1 RuyRad vigmila d?
(At 1 B) A2
(©) 124 2 6i] (D) tiui Asum )]

Aufiaa A4z (CP) 2sifia DA-u Rl Lusi & -

1. SuRilua Auz (CP) A LR Az-n 3uii ol s21da YA el o A B,
2. CP $eya2 g1 RulRe 580 as1 A yorot 3 Ay ur Resaz w2 dl 53l 2adl.
3. dwin SIR2 dlauy CP oadl sauin 8,
Gualsruie sef/sun Ru-yRsAl B 7
“a1,2 (B)HIA2

©2,3 D1,3

A+ v A6iRA DA Rl uqwi el :

(A) A a=lA 8 3 341 A4 s azg 3 At wr 43¢ vl adg was wd wga B,

(®) A AQoudl %A AL el oo €2 sl ol susRls Wl B.

(©) 4 25 2dvaus 8 3 uld B 3 w51l waly s g5 242 8 2 25 9 Henn 3 9,
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109.

110.

111.

112.

13:

Phantom FD] Sometimes j E

N News is describeq as
(A) Investments done jn greenfield Projects

(B) Investments done by high n
(C) Investments that pass thrg
(D) None of the above

etworth individuals

ugh empty corporate shells

(A) Fiscal deficit would be zero.
(B) The government does not have a
C) The central bank does not contr
(D) Balance of Payments is zero

right to print currency.
ol money supply.

A Hard currency is the one which
(A) is abundant in the foreign exchange market

B)is relatively stable through a short period of time with high levels of liquidity
(C) does not change its value relative to

in the inter market

(D) is not convertible to Special Drawing Rights (SDR)

Consider the following statements regarding Open Market Operations.

1. Open Market Operations refers to bu
open market.

2. Selling of a bond by RBI leads to increases in the total amount of reserves in the economy and
thus increases the money supply. Which of the above statements is/are incorrect?

(A) 1 only (B) 2 only

(C)Both 1 and 2 (D) Neither 1 nor 2

bonsider the foll

ing st regarding C cial Paper (CP).

1. Commercial Paper (CP) is a secured money marketinstrument issued in the form of a promissory
note.

2. CP will be issued at a discount to face value as may be determined by the issuer.
3. All the corporates are automatically eligible to issue CP.

Which of the above statements is/are correct?
A1,2

©)2,3

(B) 2 only
™13

Consider the following statements regarding Rahn Curve.
(A) It describes how household expendih_lre on a particular good or service varies with household
income.
(B) It is a graphical rep of the rel. hip between
rate. ) .
(C) 1t is a-graph which indicates that there is a level of government spending that maximizes
. economic growth.

(D) It is 2 method for pr

Y and the job vacancy

dicting the likely prod rate of any finite resource over time.

[PT.0.
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(©) ™A 3

B) A2 313
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115.

116.

117.

118.

Which of the fo)
) Itisa f ollowing statements hest describes the term Mezzanine financing?
(A)Itlsa inancialinstrument useq by companies for short term loans.

B) It is a fina f
(B) neing mechanism used by venture capitals to invest in high growth start-ups.

(C) Itis a financial instrument which is 5 hybrid of debt and equity financing
(D) None of the above

Under the provisions of the Banking Regulation Act, 1949 RBI can
1. Issue directions to banks for resolution of stressed assets

2. Examine on oath any director or other officer of the bank

3. Prohibit banks against entering into any particular transaction
Which of the above statements is/are correct?
A)1,2 '

(©)2,3

(B)1,3
) 1,2,3

RBI cancels the licence of a bank due to which of the following reasons?

1. The bank does not have adequate capital and earning prospects.

2. The bank has failed to comply with the requirements of Banking Regulation Act, 1949.

3. The bank with its present financial position would be unable to pay its present depositors in full.

4. Public interest would be adversely affected if the bank is allowed to carry on its banking business
any further. .

Select the correct answer code:
(A)1,2,3 B)1,2
©)1,3,4 D)1,2,3,4

Which of the following statements is/are correct regarding Governmental Schemes in Gujarat?

1. Under Vidya'Deep insurance scheme, insurance coverage is provided for accidental death of
students studying in colleges.

2. Vidya Laxmi Bond Scheme encourages the parents to send their girl child to school and to
provide education at least upto primary level.

3. Under Mukhyamantri Kanya Kelavani Nidhi scheme, the fund is generated through public
auction of the gifts received by Hon’ble Chief Minister.

(A) 1 and 2 only (B) 2 and 3 only
(C) 3 only D)1,2and 3

Which of the following statements is/are correct regarding production of agriculture crops in
Gujarat during 2020-21?

1. Guja}at is the largest producer of Groundnut.

2. The State is the 2* largest producer of Cotton.

(A) 1 only (B) 2 only

(C) Both 1 and 2 (D) Neither 1 nor 2

[PTO.
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120.

121.

122.

123.

124

125.

126.

Forelgn Trade Policy 205.2¢39 extended till

(A) 30 September, 2022
(B) 31 December, 2022

(D) 31 March, 2024

Which of the following Statement/s is/are correct?

(C) 31 January, 2024

1. The GST Council is a joint forum of the Centre and the States.

2. Every decisi
mry sion of the GST Council shall be taken at jts meeting by a majority of not less than
2/3 of the weighted votes of the members present and voting.

3. The vote of the Central Government shall have a weightage of 1/3" of the votes cast.
(A) 1 and 3 only

(C) 2 and 3 only

(B) 1 and 2 only

(D)1,2and 3
Which State is not prominent for plantation agriculture?
(A) Kerala (B) Assam
(C) Rajasthan

(D) Karnataka

Among the following largest countries of the World, which one has only one Time Zone?
(A) Brazil (B) Russia
(C) Canada (D) China

Malwa Plateau is a sub-region of which one of the following major Physiographic regions of India?
(A) The Peninsular Plateau region (B) The Northern Plain

(C) The Central Hills and Plateau region (D) The West Coast region

The largest wetland in India is
(A) Hirakud Reservoir (B) Yashwant Sagar
(C) Chitrangudi Bird Sanctuary (D) The Sunderbans

‘Which one of the following pairs of project launching and First state, is not matched correctly?
(A) Project Rhino — Assam
(C) Project Tiger — Uttarakhand

(B) Project Crocodile — Odisha
(D) Project Dolphin — Kerala

Which State/UT has the largest number of wildlife sanctuaries?
(A) Gujarat

(i!) The Union Territory of Andaman and Nicobar Islands

(C) Maharashtra

(D)‘Madhya Pradesh

rro. Ed
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) dRarug (B) warg, © 3 @) saes
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8.
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3. 4222 (Nor Westers) c. Grdlu Agtl At 914, Yot 2 e yany
4.4 (Loo) d. 6oL A PURAHAL ALt AL AARS
(A)1-2a,2-b,3-¢c,4-d (B)1-b,2-2a,3-d,4-¢
©1-c,2-d,3-2,4-b ®)1-d,2-3,3-b,4-¢
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3. e — yal, Waia
4. B — yud), ol
(A)32d 4 B)1,2%14
(©)2,3%4 g (D) Gusd AA A5y 4]

[csP-2]

[Contd.

128.

129.

130.

131.

132.

Which state/UT hgqq the larges¢ p— E
(A) Tamil Nady T of working SEZs in India?
(C) Kerala (B) Maharashtra

(D) Karnataka
Match the following i, their correct definitjon;
1. Mango Shower :
2. Blossom Shower : l;::l:lqonsoun showers which help in blossoming of coffee flowers
3. Nor Westers c~ S 0nsoon showers which help in the ripening of mangoes
4. Loo d', Eve’ni;: ::d :ppressing winds blowing in Northern plains
A)1-8,2-b,3-¢4_g " vl s
(C)l—c,Z—d,S-a,4_b (B)1-b,2-a,3-d,4-¢

®D)1-d,2-23,3-b,4-c¢
Consider the following stat,

Assertion (4) : Monsoons Play a pivotal role

R) : - fa
Reason (R) : Seventy-five percent of the total rain in the country is received during the south-west
Monsoon season.

in the agrarian economy of India.

Select the correct answer from the codes given below:
(A) Both A and R are true,

(B) Both A and R are true,
(C) Ais true, but R is false,
(D) A is false, but R is true.

but R is not the correct explanation of A
and R is the correct explanation of A.

Read the following statements about the climate change. Identify the correct ones.

1. As per the latest report of IPCC, Climate Change is happening at a rapid pace.

2. The role of anthropogenic activities are extremely likely responsible for the climate change.

3. Change in Climate would Ppromote insect-borne diseases and lead to shift in climatic boundaries.
(A) 1 and 2 only (B) 2 and 3 only

(©)1,2and3 (D) 1 only

The sun is vertical at least once in a year at which among the following cities of India?
(A) Ahmedabad (B) Delhi
(C) Nagpur (D) Jaipur

‘Which of the following rivers are correctly matched with their important tributaries?
1. Yamuna - Betwa, Ken

2. Brahmaputra — Dibang, Lohit

3. Narmada - Purna, Siang

4. Krishna — Musli, Bhima

(A)3and 4 (B)1,2and 4
(©)2,3and 4 (D) None of the above
s
[csP-2] [PTO.
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d. Bugirg R wn
®)1-d,2-¢,3-b,4-a
(©)1-¢,2-b,3-2,4~d
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(€©)1-b,2-2a,3-4d,4—¢
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133. Arrange the correct ge,

'quen E
€€ of Colump. against Column-I1

s e Cy 3
1. Gamit, Bhil, Dhodia, Kathodi olump.y
2. Jatinga

Column-I .

2. Place in Assam Wwith unusual bird deaths

3. Kanwar Tal - Tribes of Gujarat

¢. Biosphere Reserve in Kerala-Tamil Nadu
d. Ramsar site jn Bihar
codes below:

4. Agasthyamala

Select the correct answers using the
(A)l—c,l—d,S—a,4—b (B)1-4,2
©1-b,2-2,3_q,4_, e i

(D) 1-¢,2-b,3-2,4-d
134. Match the following biosphere reserves with states,
s

. select the correct options:
I. Nanda Devi — Uttarakhang i

1L Gulf of Mannar — Tamil Nady
1I1I. Manas — Nagaland
IV. Panna — Madhya Pradesh

®) LandIL (B) 1, 11 and 11T
(OLand1v () L, I and IV
135, Which of the following statements are valid? Choose the correct options provided below:
L Dairy farmers, like other commercial farmers, usually do not sell their products directly to
consumers.
IL. Dairy farmers generally sell milk to wholesalers, who distribute it in turn to retailers.
IIL From wholesalers, retailers sell milk to consumers in shops or at homes.
+,+ IV. Very less milk is processed into cheese and butter and dairy farms need not be closer to their
market than other types of farms.
(A) I and IIX (B) I, I1 and 111
(C) I, and IV (D) Iand IT
136. Mercedes-Benz and Audi biles are among the city’s best-known products. Which nation is
being referred to, for production? :
(A) France : (B) UsA
(C) Germany (D) Canada

137. A tsunami is a great ocean wave produced by:
(A) an earthquake below or near the ocean floor.
(B) volcanic explosion.
(C) a coastal fault line getting ruptured.

' (D)an earthquake and volcanic explosion.

[csp-2] rro. Ed
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138.

139.

140.

141,

142.

143.

e

AR 6le Joear, 62 dlza 2ol wliaa 4 A e A A Aueoluid ?
(A) eRa AR, Rruy, et w1 wéd-s

(B) 2w, s@at AR, i 3 AR

() el= AR, RouyR, diSair 21 diasia

(D) AW, e ARW, diSaq A dlaisia

A3l 2y mdollut Rusella dd-n isofui A2 suden Ru-lwis i Rsed wais 5.
1 2 Rusellu gl Wl 2uasd suar, Wfousl, AdZ, RuRaadd 213 giar
A2a8 B ueisa MRHAN 2ufs uein 2 9.

IL Al e, AYBRun 211 Wdun §5200) wadl wrl i aswed Alus ool wd
wul 538,

TIL. GUAdSAl MM URAIR G2 23U (landscape) a4 vseus ¢ ©. oud 2R awl, 30
Ad), sueu Gusel 1A W22 wasa A wndel Y da oud Guas 8.

IV. e+t guR WA efm yd (SE) AR w1 Detefl 2uia s3en v ugiell 2@s du 8.

A) LI IV (B) 124 Il ©) 12 IV ®) 1, I3 111

Ad) As 2 B el 103 Wl 30wl ddnard audmi A6 2 52 wud A 4d adwu-d
30l Al A g s ?

(A) -6l R
(©) 2ulls Rsw

(B) 2516 @51
®) Wl s

oge1oget il ‘Reurt Rar’ (Science Day) -u Ruu-arg (Theme) 02 2ulen 8. 5 Rt g el ?
(A)ay 2019 — A8l w2 Qs 27 QL8 Rsur w2

(B) ax 2020 — [Aeu+t Qi uRexil

(©) a¥ 2021 — g Aufa w2 Rsun

@) ay 2022 — 2516 cuf 2 Rz 2 as-DAai Asfa xldam

Ad-u A4 53 2 rauguRd s1@ el ?
(A) B3¢ suA
(C) Mu tugil

(B) Fgrusl w11 s-uell (Herbicides)
(D) 2 s

Aaie dode Wdla (NLP) A A2 LA s dau e v § ?
(A) Artificial Intelligence (§A% 6i[&)

(B) Object Oriented Programming language

(C) Space Technology Development

(D) Biodiversity Conservation (3 2t i2a%)

[CSP-2] [Contd.

138.

139.

140.

141.

142.

143.

The ‘Four Dragong’, <, i E
o sou » our Little Tigers? ang/or ‘The Gang of Four’ in Asia refer to:
rea, Singapore, Taiwan anq Ty, il '
(B) Japan, South Korea, Taiwan and Mya e
n
(C) South Korea, Singapore, o

Taiwan and y,
(D) Japan, South Korea, o

Taiwan angd Hong Kong

Select the correct options from the s

t: "
Arabian Peninsula conxities: atements provided below relating to the petroleum rich

L. Arabian Peninsula countries have used petroleum
such as housing, highways, i

to finance larg le projects,

) airports, universities and telecommunications networks.
II. Their steel, aluminum and petroch

government subsidies,

factories on world markets with the help of

1L The' landscape has been further changed by the diffusion of consumer goods. Large motor
vehicles, color TVs, audio equipment and motorcycles are readily available and affordable.

IV. Supermarkets there are stocked with food imported from SE Asia and China.

(A) L, I and IV (B) I and IIT

(©1Iand IV (D) I, I and 11T

Development that meets the needs of the present without compromising the ability of future
generations to meet their own needs is called
(A) Renewable Development (B) Sustainable Development

(C) Economic Development (D) Farm Development

Theme for different year’s Science Day are mentioned below. Which is not correct statement?
(A) Year 2019 — Science for the People, and the People for Science

(B) Year 2020 — Women in Science

(C) Year 2021 — Science for Nation Building

(D) Year 2022 — Integrated Approach in science and technology for Sustainable Future

Which of the following does not cause water pollution?
(A) Domestic Waste (B) Insecticides and Herbicides
(C) Heavy Metals (D) Dissolved Oxygen

The Natural Language Processing (NLP) is a branch of which of the following fields of study?
(A) Artificial Intelligence

(B) Object Oriented Programming language

(C) Space Technology Development

(D) Biodiversity Conservation

[PT.O. m
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The “Ai —Da” is : _
144. - Sometimes seen in news is related to which of the following?
%) Humanoid (Robot) A rtist

(B) Japanese Satellite

(C) Artificial Intelligence (AI) based calculator
(D) Artificial Intelligence (AI) based radar system

145. On a rainy day, small oil films on water show brilliant colours. This is due fo

di A
(2) d:::':::::,“ w) interference
% " (D) polarization

146. The Spike missile is newly acquired from Israel by Indian government is related to which of the

following?
w Anti-tank missile (B) Torpedo
(C) Nuclear payload capable missile (D) None of the above

147. Famous scientist S.S. Abhyankar has contributed in the field of
(A) Biological sciences (B) Physics

w Algebraic Geometry (D) Chemistry

148. Find out the Indian scientist Dr. Vikram Sarabhai’s contributions from the options listed below:

1. Founded the Physical Research Laboratory in Ahmedabad.
2. Chairman, Atomic Energy Commission of India.

_ 3. Won Nobel Prize in physiology and medicine.
4. Won Nobel Prize in physics.
Select the correct answer using the code given below:

‘}ﬁ) 1and 2 (B) 1 and 3
(C)1,2and 4 : (D)1 and 4

149. The Centre of Science and Environment in New Delhi publishes a popular magazine. Select its
name from the options given here:
(A) Science Today ﬁ) Down to Earth
(C) Earth and Environment (D) Nature

150. 1. In nuclear fusion, energy is released when atoms are combined or fused together to form a

larger atom. This is how the sun produces energy.
2. In nuclear fission, atoms are split apart to form smaller atoms, releasing energy. Nuclear power

plants use nuclear fission to produce electricity.
Evaluate the statements
(A) Only 1 is correct
‘f) Both 1 and 2 are correct
b S :

(B) Only 2 is correct
(D) Both 1 and 2 are not correct

[CSP-2] rro. B
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151. Modhera, our country’s first 24x7 solar powered village is located

1. in Mehsana district of Gujarat
2. about 80 km from the state capital of Gandhinagar
3. on the banks of the Pushpavati river

4. on the banks of Sabarmati river

Select the correct answer using the code given below:
(A) 1 and 2

(B)1,2,3 and 4
| (C)1,2and3 |

(D)1and 3

152. At Banas Bio-Gas Plant, the end products produced include
1. Bio CNG

2. Solid fertilizer

3. Liquid fertilizer

4. Vermiwash

Select the correct answer using the code given below:

(812 only (B) 1 and 2
(C)1,2 and 4 |(D)1,2,3and4|

153. Radiocarbon is produced in the atmosphere as a result of
‘/A) collision between fast neutrons and nitrogen nuclei present in the atmosphere
(B) action of ultraviolet light from the sun on atmospheric oxygen
(C) action of solar radiations particularly cosmic rays on carbon dioxide present in the atmosphere
(D) lightning discharge in atmosphere

154. Which state has got installed wind power generation capacity in India?
w Tamil Nadu (B) Gujarat
(C) Maharashtra - (D) Rajasthan

155. Which area of Gujarat state was listed as biosphere reserve by Man and Biosphere Programme of
United Nations Educational, Scientific and Cultural Organization?

(A) Gir (B) Saputara
‘)C) Rann of Kutch ; (D) Champaner
156. Select the names of adsorbents used for the removal of various gaseous air pollutants:
1. Iron oxide 2. Silica gel
3. Activated carbon 4. Water
Select the correct answer using the code given below:
(A) 3 only (B) 1 and 2
(C)2and 3 )1,2,3 and 4
- v
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{57. Consider the following Stateme

1. Cyberspace is a co nts for Cyberspacc.
ke Supportedmt:"ex environmen¢ Consisting of interactions between people, software and
g Y Worldwide gicrir . ..
(ICT) devices and Networkg dMnhun“n

of information and communication technology

2. Cyber Security Policy aimg ¢, Create
and programmes ¢, €nhance the

Select the correct answeyr using the code given belgw:
(A) Only 1 is correct (B) ;)nly 2 is correct
Both 1 and 2 |
O AYe correct (D) Neither 1 nor 2 is correct

A cyber-security framework, which leads to specific actions
Security posture of country’s cyber space.

vber security ecosystem in India, and in alignment with
ion for a ‘Digital India’, the Ministry of Electronics and

Y (Meity), launcheq the Cyber Surakshit Bharat initiative in association

Governance Division (NeGD) and industry partners.
2. Target audiences for the above

Program are students of postgraduate courses of all state and
central universities,

Information Technolog
with National e-

Select the correct answer usin

%) Only 1 is correct
(C) Both 1 and 2 are correct

g the code given below:

(B) Only 2 is correct
(D) Neither 1 nor 2 is correct

159. Consider the following statements from IT rules, 2021.

1. The new IT Rules, 2021 have a clear ob

jective of enhancing online safety of users, particularly
women & children.

2. Various provisions of these Rules include: Specific inclusion of certain requirements to be
explicitly conveyed in the terms and conditions, Reporting by the aggrieved individual in

respect of revenge porn and similar content breaching physical privacy and taking action within
24 hours for content removal. ;

Select the correct answer using the code given below:
‘}) Only 1 is correct (B) Only 2 is correct
(C) Both 1 and 2 are correct (D) Neither 1 nor 2 is correct

160. Consider the following statements

1. The Department of Space (DoS), under which ISRO comes,

has signed an MoU with geospatial
technology company CE Info Systems Pvt. Ltd.

2. The collaboration will enable them to jointly identify and build a holistic geospatial portal
utilising earth observation datasets, ‘NavIC’, Web Services and APIs (application programming
interface) available in MapmylIndia. The geospatial portals will be called ‘Bhuvan’, ‘VEDAS®

and ‘MOSDAC’ ;
(A) only 1 is correct (B) only 2 is correct
‘(? both 1 and 2 are not correct (D) both 1 and 2 are correct
\-_._;
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161 :\S/:‘;Ch was the first pharmaceutical Product of recombinant DNA technology approved for human
J(IC‘: lsltl(::l}ll:& (B) Monoclonal antibodies
(D) Interferon
62. Which viral disease is causeq by Varicella-zoster virus?
‘[A) Chicken pox = é;na" s
(C) AIDS

(D) Encephalitis
163. DNA fingerprinting is used for

(A) Identification of criminals (B) Settlement of paternity disputes

(C) Immigration test cases and disputes D) All of the above

164. Which event of significance is celebrated on 28®
(A) World wetland day

February in our country?

¢) National science day
(C) World environment day (D) Bhopal gas tragedy day

165. Which ministry in our country is primarily concerned with biodiversity of lakes and rivers?
(A) Animal husbandry, dairying and fisheries
(B) Earth sciences
w) Environment, forests and climate change

(D) Science and technology

166. The first hydroelectric power dams in our country were built in
(A) Sardar Sarovar, Gujarat (B) Western ghats, Maharashtra
- (C) Kakrapar, Gujarat @) Darjeeling, West Bengal

167. Antimalarial drug quinine is obtained from which plant source?
(A) Thorn apple (B) Wild yams
(C) Velvet bean JD) Cinchona tree

168. Central Pollution Control Board is primarily responsible for
I 1. Controlling river pollution in our country
2. Monitoring air pollution
3. Sewage disposal and effluent treatment guidelines
4. Publishing data and statistics related to air and water pollution.
Select the correct answer using the code given below:
& Fonly (B) 1 and 2

. ' (C)I,Zand?, J))I,Z,Sand4
e [CSP-2] rrro. 21




_ €Mporary hearing loss often caused by
1. Air pollution

2. Water pollution

3. Noise pollution

4. Land pollution

Rglegt £16 correct angwer using the code given below:

(A) 1 only
3 only
(C)3 and 4 M

170. Clean, dry air containg
M) 78.09% nitrogen ang 20.94% oxygen, by volume.

(B) 74.90% nitrogen ang 24.10% oxygen, by volume.
(C) 88.09% nitrogen ang 10.949, oxygen,

by volume.
(D) 81% nitrogen and 11.94¢ oxygen,

by volume.
171. Atmospheric humidity is measured using

1. Whirling Psychrometer

2. Hair Hygrometer

3. Infra-red hygrometer

4. Barometer

Select the correct answer using the code given below:

(A) 1 only (B) 1 and 2
W) 1,2and 3 (D) 1,2,3 and 4
172.  Which of the following is called the secondary air pollutant?
(A) PANs ﬁ) Ozone
(C) Carbon monoxide (D) Nitrogen Dioxide

173. Intellectual property rights may be protected in the form of

1. Trade secret
2 lPatent

3. Plant breeder’s right

4. Copyright
 Select the correct answer using the code given below:
(A) 2 only (B) 2 and 3
R 1.2 ani 4 (D) 1,2, 3 and 4
Mein [CSP-2]
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174. Which cells yse the Sunlight ¢ e, ]
VA) Photovoltaie cells ¢ electricity?

(C) Photo synthetic ceyyq (B) Photo reactive cells

(D) Photolytic cells.
175. The word “Roc” i gftep seen j

(A) Satellite to study Stratosph
(B) Largest aircraft

N News is related to which of the following?
ere

(C) Helium balloon ¢ study Stratosphere
(D) Drone to study UPPer atmosphere

(B) Blue Origin
(C) China National Space Administration (CNSA)
(D) Japan Aerospace Exploration Agency (JAXA)

177. The “LOX methane” s recently in news

A) Space rocket engine fuel
(C) Bio-diesel

is related to which of the following?

(B) High speed diesel variant

(D) None of the above
178. The Human Space Flight Centre (HSF C), the hub of ISRO’s future manned missions, is
located at
(A) Sriharikota ‘KB) Bengaluru
(C) Mahendragiri (D) Thumba
179. The terms “Antu, Kueyen, Melipal and Yepun” is related to which of the following?
(A) Asteroids (B) Planets of Jupiter
V) Telescope (D) Radar Systems

180. What is ‘Secure Application for Internet’ (SAI) that has been launched recently?
M) Simple messaging application developed by Indian Army
(B) A communication channel between Indian and USA defence forces
(C) An antivirus application developed by CSIR

(D) A secure firewall deployed by Reserve Bank of India to block unauthorized access

181. Union Territories and Capital are mentioned below. Which pair is not correct?
(A) Andaman and Nicobar Islands — Port Blair
(B) Dadra and Nagar Haveli and Daman & Diu — Daman
(C) Ladakh — Leh
/D) Lakshadweep — Agatti
-
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182,

183,

184.

185.

AL AT axdl amddl 2011 1l QoA AAQ D, 5w Rted e 8 2
1. ®Retfl azefl 21249 2011 A GuRAA a1 Wl Al axdl 2dd wBre S,
2. R Al ay axdl rag A Grir w2a B 24 2ot A 2016 azdl huag e Rudln 8.

3.93.91% a1 €2 A 3201 A Barg Well ay w2 Apu O il 63.82% AiaReAL 62 0l Brarz Al
2ileg WwaR P B,

4.3els 1000 Yol 1084 Rl 1l 3200 e Glail Riot opeileiz 413 B, ud 1000 Y21 Wit 877
HRaw wA ¢Ruren Al N Bt yeiln 41 B,

(A) 1212 B)2ud3
©)324 (D) 1,2,343 4

A% A Al 2ol A DA 2100l B, 56 AR 2 44 ?
1. 20 — Raa, e, s, @iz, wid, A, g4, uas

2. yefladie — o, R, yrs, 2udlay, iz, Ml oy
3. Ru8 = A, [z, AR, Y-, dwa, A1, ogues

4. 1Ry — dlaG, Asde, Wy, W, Az, Yo, 58], Al-wis

A4 5 ®B)3

©)2 o)1

DA Rl asidl : ; :

1. AiRAlY axdl Agadl A ourd-u QAN RRY af@sdazd w RRY 2isafy WRAD Ad DA

s wlld 8. 130 el ayu SR d, 201 Rua-y, w-asrida saad e 10 af 32w
RS iR adl 201 B, 3 ad 1872 i 13 ada s wan axdl Awidd) eurd-t RRY ewdlui
Br-yAn Ad sz vami 20dl ¢dl.

2. euflu axdl o1l 1w tRardl FAGER] MR AR A HatduA AHZR PR A A
sPa A{Ra0 8.

(A)HA 1 Rt w3y \.
(C) 1244 2 6{A Ru w8,

(‘B) w2 Qu W 8.
(D) 1244 2 6{A R i -,

A 2uden Qul A4 53 Qa7 su Rl aea 8 2

1. A%r1d 3 GriR yoHi Wizt 21 gzt wd, ydui weante, sBemi wgireg 213 s ual e,
ex2, eieL 20 912 $adl 18 A uee 4 O, A WA dan el wPinni 2ol wyg wd
A yd 8. f

2. wugiate A i uzug You 182 A W s sufaug @ e, a0 s
sfadl 197541 AiHl12 vud Fo1edl srcumi wuet < YA Aueare vid 8.

(A) 1212 B)WA1

(©) w2 (D) 1 dat 2 bi L )
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184

. ~The data fi X
182 : rom the Censys of Indian States 2011, is as under. Which st
1. The Indian Cengys 2011 was the seventh

2. The most opulated st, n Pr: The least pop!
p State iy
e India is Uttar Pradesh. least ulated state in the cour try is

atements are correct?

census operation after Indian independence,

3. Kerala Is the highest literate st

ate in the country with 93.91% of literacy rate, Bihar i
. . s the least
literate state with » literacy ra . '

te of 63.82%.

nts the highest sex ratio with 1084
the lowest sex ratio in India with just 877 wome
(A)1and 2

(C)3and4

4. Kerala represe,
prese females per 1000 males while Haryana features

n per 1000 males
(B)2and3
M)1,2,3and 4
The State and Tribes are mentioned below,

Which pair is not correct?

1. Assam Dimasa, Raba, Chakma, Lakher, Khasi, Synteng, Kuki, Pawai

2, Chhattisgarh Nagasia, Biar, Khond, Agariya, Bhattra, Mawasi, Bhaina

3. Jharkhand Gonds, Birhors, Savar, Mundas, Santhals, Khaira, Bhumji
4. Manipur ‘Thadou, Aimol, Maram, Paite, Chiru, Purum, Kuki, Monsang
(A4 (B)3 ©2 D)1

Evaluate the statement:

1. The Indian Census is the largest single source of various statistical information on various
characteristics of the people of India. With a history of more than 130 years, this reliable, time-
tested exercise is bringing in a real insight into the data every 10 years, beginning in the year

‘1872 when the first census was conducted non-synchronously in different parts of India.

" 2. The responsibility of conducting the decadal census rests with the Office of the Registrar General
and Census Commissioner of India, Ministry of Home Affairs, Government of India.

(A) Only statement 1 is correct (B) Only statement 2 is correct

(C) Both statements 1 and 2 are correct (D) Both statements 1 and 2 are not correct

From the statements given below, which statement/s is/are correct?

1. Gujarat stands bordered by Pakistan and Rajasthan in the north east, Madhya Pradesh in the
east, and Maharashtra and the Union territories of Diu, Daman, Dadra and Nagar Haveli in the
south. The Arabian Sea borders the state both to the west and the south west.

2. Ahmedabad became the chief city of the new State and housed the State Government Offices.
They remained there until they were transferred to Gandhinagar in 1975.

(A)1and2 (B) Only 1
(C) Only 2 (D) Both 1 and 2 are not correct
nly
» [csP-2] [PT.0.
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186, 2ot 21 0l Genl-A R Al 02 20l 9. 20 R asel.

187.

188.

189.

1,309 242D MR - A Yrate-L s Brecun] 20 B 2 B 2Ll ay aRAUE W2 wuq
8. ul ML 801 (barking deer), SuRdlu Rd2 Brewdl (Indian civet cat), WHIL Aol (common
mongoose), t142 H415 (bonnet macaque), Pirll  (leopard), %2R  (python), Gedl Bl
(flying squirrel), 14t (hyena), Rdd (chital), iR (sambar), 202 Bas sflaR (four-
horned antelope), 31 %31et 424l (grey jungle fowls), A0 (cloropsis), Q3R (flycatcher)
Qarud 9, )

2. QU A Geurt - 197641 Ui 20dd Anag sl A Genrt YA CUAR wud
Rud 8. dag: 1y Gendt 3 sl gt uoaladl w2 wand 8. A au®a UMARTY A
241213 3000 D ay sl de & Qo0 Aelse, Ade 21 TN R4 (storks) AR 1208 ay
uall wanldilg Qe 8,

(A) 1dat26id 8.

© A 1Y B

(B) 1 a2 6i el
D) WA 20 D

Azl et Al oDl AN DA 200 B, 16 AN el el ?

1A — vl R 2. w3 wda — A, agay, 2l

3. R — Hawan 4.3 — gy

A)1212 ®)2313

©3u4 D) 4¥1

6ie2 2 A B Aopumi [Rud © AN AN DA 2uda B, 58 A A e ?

AR (13

1.3 pall :
2. iR [CETETERETY

3. saifes RS

4. 20Rxu Wdedz

(A) 12412 “(B)2214

()23 D324

02 2uden 5 WA 46 3 werzet Sl 202 Attt et L ? '
(A) 2054 A-¢ QxR A ARt (ONGC)

(B) MiRd &l §Asfse (A28 (BHEL)

(C) A1 sy A28
(D) sia SR R3S (CIL)

[CSP-2] [Contd.

l

6. Information for sa, :
18, nctuary and national park is given below. Examine the information.

the Dang district of Gujarat, famous for witnessing the
re are barking deer, Indian civet cat, common mongoose,

¢ «¢opard, python, flying squirrel, hyena, chital,
grey jungle fowls, cloropsis, flycatchers.

2. Velavadar National Park estapli

1. Gaga Wildlife Sanctuary locateq in

maximum rainfall in the region, The
bonnet macaque, |

four-horned lop

. j din 1976, the Velavadar Blackbuck National Park is situated
in Bhavnagar in Gujarat. Velavadar National Park is famous for having the rare species of
blackbuck. The wildlife sanctuary is home to more than 3.

of birds, including flamingos, Pelicans,
(A) Both 1 and 2 are correct

,000 blackbucks and over 120 species
white and painted storks, etc.

(B) Both 1 and 2 are not correct
(C) Only 1 is correct
(D) Only 2 is correct

' | 187. The state and main languages are mentioned below, which pairs are not correct?

1. Meghalaya — Khasi, Garo

2. Arunachal Pradesh ~ Nissi, Dafla, Adi
3. Andhra Pradesh —~ Malayalam

4. Kerala — Telugu '

(A)land2

(C)3and4

(B)2and 3
(D)4and 1

188. The information for port and state is mentioned below, which pairs are not correct?

State Port
1. Kerala Kochi
2. Tamil Nadu Visakhapatnam
3. Karnataka Mangalore
* 4. Odisha Port Blair
(A)1and2 (B)2and 4
(C)2and3 (D)3 and 4

189, From the following units, which is not Maharatna Companies — Public Sector Enterprises?

(A) Oil and Natural Gas Corporation (ONGC)

(B) Bharat Heavy Electricals Limited (BHEL)
“ (C) Cochin Shipyard Limited

(D) Coal India Limited (CIL)

[PT.O.
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190.

191,

19;

193.

»

Biidaasdlu A un atidrangla ARildg @A
1. 52uR R Aidzdly A HouS, wag

2. 3allagt widndu A4l Sodlz, sales

3. Al WAl 2HidrGd A v, GrruBa

4. 30 2 AMEIND BlARANA A YA, WAt

Gul A0 UG 56 Af2A W D ?

(A)1,2,327 4 (8)1,2¥3
(©)2,3314 D) 1,394

2 Aottt ndA Al 31 Auel 2ewved Afa, yeunan A vl 9, A 1A 56 Al dlou
Al ?

1. Regrart AADsu Q028 (HAL) : el

2. odl Sifs (28 BDL) : yd

3.3 581 Relds (TCL) - sy

4. 903 aflseu Ram (A28 (AVNL) : 2uad), A~us
A4 (B)3
©2 M1

Buun At Adr1 Nl AN QA L B, 56 AD WA D ?

1. sioundl Raaldl — enilez 48l T
2. el uddl — R 258

3. uddlg adR 21 vivied ad — fasw
4.92 4 ¥ils SR — Yus

(A) 1,213

©) 1,304

(B)2,3% 4
D)1,2,3 44

0 2uden [Quid asrl :

1. oo ofou-l 2ol 3 5 4ot A B 3 oy oAl Rl el Glsiaie) et e s 9,
ool [Raurtél uysedl Awndlell 4255 3. ) Gl Bad 8 213 A 2ued 24 .40, dous 21 7-8 .30,
A udlous 41 8. w24 1€l G0l a3 Ahavun B A —URbE A Aesric g 4 B 2 slon
ol oau 8. L o

2. 3lle1adl - 1465 B douS wuadl A oure-) st 44 & 3 2 uiuel £ oi2e 426, ad B, A
‘@l oion’ waa el oo adl3 we vilvua 8. Ae1adl 1R 2wt -ukts Breair 2iows wd

GeMd 6 247 ydHl a4 evutau G2 ueuuidl adlA vismea-u ulan sleladl Brecuy RAUYRU WA
sjouan-l vufld wd 8.

(A) Ht 1 3y 8.
(C) 1 a2 ¢id W 8.

B) WA 2wy B,
(D) 1 a2 2 6iA L 44,

m [CsP-2]
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. International Air
190. Port Name International Airport Location

1. Chhatrapati Shivaji International Airport — Mumbai, Maharashtra

2. Kempegowda International Airport ~ Bangalore, Karnataka
3. Chaudhary Charan Singh International Airport — Lucknow, Uttar Pradesh
4. Sri Guru Ram Das Jee International Airport

From the above pairs which pairs are correct?
(A)1,2,3and 4
(©)2,3and4

— Amritsar, Punjab

(B)1,2and 3
(D)1,3and 4

191. Defence public sector undertakings and its registered office, Head office are mentioned below.
‘Which pair is not correct?
1. Hindustan Aeronautics Limited (HAL) : Bangalore
2. Bharat Dynamics Limited (BDL) : Pune
3. ’h'odp Comforts Limited (TCL) : Kanpur
4. Armoured Vehicles Nigam Limited (AVNL): Avadi, Chennai
A4 (B)3
©)2 ®)1
192.

Surname-nickname and name of city is mentioned below. Which pairs are correct?
1. Bengal’s Sorrow — Damodar River

2. Blue Mountains — Nilgiri Hills

3. City of Palaces and the City of Joy — Kolkata
4. Gateway of India — Mumbai

(A)1,2and3

(©)1,3and 4

(B)2,3and 4
()1,2,3and 4

193. Evaluate the following statements :

1. The Ganga: The source of Ganga is at Gaumukh where the mighty river emerges from the
depths of the Gangotri glacier. The Gangotri glacier is situated at the height of 4255 m above
sea level and is approximately 24 km in length and 7-8 km in width. Here the river is known as
Bhagirathi and later it joins river ‘Alaknanda’ and becomes Ganga.

2. The Godavari: It is the only river in India that flows from western to southern India with a
léhﬁth of 1465 km. Tt is also known as “Dakshin Ganga (Southern Ganges)” or “Budi Ganga™.

' ‘The Godavari originates near Trimbak in the Nashik District of Maharashtra state and flows
east across the Deccan Plateau into the Bay of Bengal near Narasapuram in the West Godavari
district of Andhra Pradesh.

(A) only 1 is correct

(C) both 1 and 2 are correct

(B) only 2 is correct
(D) both 1 and 2 are not correct
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